
Lesson 14: Pronouns (Module B) 
                    Demonstrative Pronouns 
                    Study Aid Level Three: Quiz 
 
This quiz tests the student’s knowledge concerning the material covered in 
Lesson Fourteen. This quiz should be considered a closed-book quiz. If 
more than fifteen percent of the questions are incorrectly answered, it is 
suggested to study the lesson material again and retake the quiz in a few 
days before advancing to Lesson Fifteen. 
 
Part One: Multiple Choice.  Choose the best answer. 
 
1.  What is the lexical form for ? 
 

a.  c. 
b.  d. 

 
2.  What is the lexical form for ? 
 

a.  c. 
b.  d. 

 
3.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
4.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
5.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 
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6.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
7.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
8.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
9.  Which of the following is the best translation for ? 
 

a. he himself c. I myself 
b. he I d. the same 

 
10.  Which of the following is the best translation for ? 
 

a. they themselves c. you yourself 
b. you yourselves d. we ourselves 

 
11.  Which of the following is the best translation for ? 
 

a. you yourself c. they themselves 
b. we ourselves d. we, the same 

 
12.  Which of the following may be translated “these women”? 
 

a.  c. 
b.  d. 
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13.  Which of the following may be translated “these men”? 
 

a.  c. 
b.  d. 

 
14.  Which of the following may be translated “to these things”? 
 

a.  c. 
b.  d. 

 
15.  Which of the following may be translated “that thing”? 
 

a.  c. 
b.  d. 

 
16.  Which of the following may be translated “of those women”? 
 

a.  c. 
b.  d. 

 
17.  Which of the following may be translated “of these things”? 
 

a.  c. 
b.  d. 

 
18.  Which of the following may be translated “magi, magician, wise man”? 
 

a.  c. 
b.  d. 

 
19.  Which of the following may be translated “patriarchs”? 
 

a.  c. 
b.  d. 
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20.  Which of the following may be translated “ignorance”? 
 

a.  c. 
b.  d. 

 
Part Two: True or False.  Choose whether the statement is true or false. 
 
1.  Demonstrative pronouns are inflected in the vocative.   True     False 
 
2.  The two near NTGreek demonstrative pronouns are  and . 
     True     False 
 
3.   is usually prepositive.    True     False 
 
4.   is usually postpositional.    True     False 
 
5.  Like , the accent pattern for both the singular and plural forms for 

 regularly follows Noun Rule #2.    True     False 
 
6.  The near demonstrative pronoun  occurs frequently in NTGreek. 
     True     False 
 
7.  The demonstrative pronoun is utilitarian in that it expresses both 

specificity and proximity.    True     False 
 
8.  Substantival near and far demonstrative pronouns modify other 

substantives.    True     False 
 
9.  An adjectival demonstrative pronoun never has an antecedent. 
     True     False 
 
10.  When the demonstrative pronoun occurs with an anarthrous noun, it 

does not modify the noun, but is itself the substantive.    True     False 
 
 
 
 
An answer key is provided on the next page. 
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ANSWER KEY 
 
 
Part One: Multiple Choice.  Choose the best answer. 
 
1.  What is the lexical form for ? 
 

a.  c. 
b.  d. 

 
2.  What is the lexical form for ? 
 

a.  c. 
b.  d. 

 
3.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
4.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
5.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
 
6.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 
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7.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
8.  What is the lexical entry for ? 
 

a.  c. 
b.  d. 

 
9.  Which of the following is the best translation for ? 
 

a. he himself c. I myself 
b. he I d. the same 

 
10.  Which of the following is the best translation for ? 
 

a. they themselves c. you yourself 
b. you yourselves d. we ourselves 

 
11.  Which of the following is the best translation for ? 
 

a. you yourself c. they themselves 
b. we ourselves d. we, the same 

 
12.  Which of the following may be translated “these women”? 
 

a.  c. 
b.  d. 

 
13.  Which of the following may be translated “these men”? 
 

a.  c. 
b.  d. 
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14.  Which of the following may be translated “to these things”? 
 

a.  c. 
b.  d. 

 
15.  Which of the following may be translated “that thing”? 
 

a.  c. 
b.  d. 

 
16.  Which of the following may be translated “of those women”? 
 

a.  c. 
b.  d. 

 
17.  Which of the following may be translated “of these things”? 
 

a.  c. 
b.  d. 

 
18.  Which of the following may be translated “magi, magician, wise man”? 
 

a.  c. 
b.  d. 

 
19.  Which of the following may be translated “patriarchs”? 
 

a.  c. 
b.  d. 

 
20.  Which of the following may be translated “ignorance”? 
 

a.  c. 
b.  d. 
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Part Two: True or False.  Choose whether the statement is true or false. 
 
1.  Demonstrative pronouns are inflected in the vocative.   False 
 
2.  The two near NTGreek demonstrative pronouns are  and . 
     False 
 
3.   is usually prepositive.    True 
 
4.   is usually postpositional.    True 
 
5.  Like , the accent pattern for both the singular and plural forms for 

 regularly follows Noun Rule #2.    True 
 
6.  The near demonstrative pronoun  occurs frequently in NTGreek. 
     False 
 
7.  The demonstrative pronoun is utilitarian in that it expresses both 

specificity and proximity.    True 
 
8.  Substantival near and far demonstrative pronouns modify other 

substantives.    False 
 
9.  An adjectival demonstrative pronoun never has an antecedent. 
     True 
 
10.  When the demonstrative pronoun occurs with an anarthrous noun, it 

does not modify the noun, but is itself the substantive.    True 
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